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��� (1
2
)n u[n + 3]

� � 2n u[−n]

��� [rn sin(ω0 nT )] u[n] |r| < 1

��� r|n| cos(ω0 nT )

�	� (n + 1) αn u[n]
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(
1

2
)n u[n]

FT −DT←→ 1

1− 1
2
e−jΩ
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(
1

2
)−3 {(1

2
)n+3 u[n + 3]} FT −DT←→ (

1

2
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2
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x[n] = 2−nu[n] = (
1

2
)nu[n]

FT −DT←→ 1

1− 1
2
e−jΩ

= X(Ω) �$�$�'�

x[−n] = 2n u[−n]
FT −DT←→ X(−Ω) =

1

1− 1
2
ejΩ

. �$�$�(�

���

[rn sin(ω0nT )]u[n] = rn 1

2j
[ejω0Tn − e−jω0Tn]u[n]

=
1

2j

[
ejω0Tn rn u[n]− e−jω0Tn rn u[n]

]
FT −DT←→ 1

2j

[
X(Ω− ω0T )−X(Ω + ω0T )

]
=

1

2j

[ 1

1− re−j(Ω−ω0T )
− 1

1− re−j(Ω+ω0T )

]
�$�$�)�

����

X(Ω) =
1

1− re−jΩ
. �$�$�*�

��� +�� �� �����������	 �� �	����
������� Fourier ���� ��� ������,

y[n] = r|n| cos(ω0 nT ) �$�$�$�

-	����"�	 ��� �� .	"��, �	����
�������" Fourier ���� ��� ����	�-��	 �	 	/�������

x[n] = r|n|, |r| < 1
FT −DT←→ X(Ω) =

1

1− re−jΩ
+

1

1− rejΩ
− 1. �$�$�0�

#��"	� 	���
,

cos(ω0nT ) =
1

2

[
ejω0Tn + e−jω0Tn

]
�$�$�1�

����	

Y (Ω) =

{
1

1− re−j(Ω−ω0T )
+

1

1− rej(Ω−ω0T )
− 1 +

1

1− re−j(Ω+ω0T )
+

1

1− rej(Ω+ω0T )
− 1

}
1

2
. �$�$�%2�
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(n + 1) αn u[n] |α| < 1 �$�$�%%�

-	�����	 ��� �� .	"��, �	����
�������" Fourier ����

x[n] = αn u[n]
FT −DT←→ X(Ω) =

1

1− αe−jΩ
|α| < 1. �$�$�%&�
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nx[n]
FT −DT←→ j

dX(Ω)

dΩ
= j
−(−α(−j)e−jΩ)

(1− αe−jΩ)2

= j
−αje−jΩ

(1− αe−jΩ)2
= α

e−jΩ

(1− αe−jΩ)2
. �$�$�%'�
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nαn u[n] + αn u[n]
FT −DT←→ αe−jΩ

(1− αe−jΩ)2
+

1

1− αe−jΩ

=
αe−jΩ + 1− αe−jΩ

(1− αe−jΩ)2
=

1

(1− αe−jΩ)2
. �$�$�%(�
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������ φk[n] ��� φm[n] �4������ �����	
�� ��� �����
�� (N1, N2) 	��

N2∑
n=N1

φk[n]φ∗m[n] =

⎧⎨
⎩ Ak k = m

0 k �= m�
�$�$�%)�

6� 
 ���� �
, ����	��, Ak = Am 	���� %9 ���	 �� ������ �4������ ����
�
�
�
��

��� :	�����	 �� ������

φk[n] = δ[n− k] k = 0,±1,±2, . . . ,±N �$�$�%*�

�	�-�	 ��� �� ������ ���� 	���� ������������ ��� �����
�� (−N,N)�

6���	�-


N∑
n=−N

φk[n]φ∗m[n] =
N∑

n=−N

δ[n− k]δ[n−m] = δmk =

⎧⎨
⎩ 1 m = k

0 ����"
�$�$�%$�

���� m ��� k ����"���� ��� �����
�� (−N,N)�

� � :	�����	 �� ������

φk[n] = ejk( 2π
N

)n k = 0, 1, . . . , N − 1. �$�$�%0�

�	�-�	 ��� �� ������ ���� 	���� �����8��� �; ����������	 �����
�� �����, N �

6���	�-


N−1∑
n=0

ejk( 2π
N

)ne−jm( 2π
N

)n =
N−1∑
n=0

ej(k−m)( 2π
N

)n =

⎧⎨
⎩ N k −m = 0,±N, . . .

0 ����8,�
�$�$�%1�
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k = 0, 1, . . . , N − 1

m = 0, 1, . . . , N − 1

⎫⎬
⎭ ⇒ 1−N ≤ k −m ≤ N − 1

k −m = 0,±N, . . .

⎫⎬
⎭ ⇒ k = m. �$�$�&2�
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x[n] =
M∑
i=1

αi φi[n] �$�$�&%�

���� φi[n] 	���� �����8��� ��� �����
�� (N1, N2)9 ���	

N2∑
n=N1

|x[n]|2 =
M∑
i=1

|αi|2 Ai. �$�$�&&�

6���	�-


N2∑
n=N1

|x[n]|2 =

N2∑
n=N1

x[n]x∗[n]

=

N2∑
n=N1

{
M∑
i=1

αi φi[n]

}{
M∑
l=1

α∗l φ∗l [n]

}

=
M∑
i=1

M∑
l=1

αi α
∗
l

N2∑
n=N1

φi[n] φ∗l [n]

=
M∑
i=1

M∑
l=1

αi α
∗
l Ai δil

=
M∑
i=1

αi α
∗
i Ai =

M∑
i=1

|αi|2 Ai. �$�$�&'�

��� 53��� φi[n]9 i = 0, 1, . . . , M 9 4�� �"���� ���������� ��������	�� ���� ��� �����
��

(N1, N2) ��� x[n] ����4�� ����� ����4��	 ��� 	������"�	 �� ����	�������	 �� x[n]

��� �������� ��������� ��� φi[n]9 �
����

x̂[n] =
M∑
i=0

αi φi[n] �$�$�&(�

���� αi 	���� ����	��� ����	�	��4,� 53���

e[n] = x[n]− x̂[n]. �$�$�&)�

�	�-�	 ��� 	�� 	������"�	 �� 	����������
�	� ��

E =

N2∑
n=N1

|e[n]|2 �$�$�&*�
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αi =
1

Ai

N2∑
n=N1

x[n] φ∗i [n]. �$�$�&$�

6���	�-


E =

N2∑
n=N1

e[n] e∗[n] =

N2∑
n=N1

(x[n]− x̂[n])(x∗[n]− x̂∗[n])

=

N2∑
n=N1

|x[n]|2 −
N2∑

n=N1

x̂[n] x∗[n]−
N2∑

n=N1

x[n] x̂∗[n] +

N2∑
n=N1

x̂[n] x̂∗[n]

=

N2∑
n=N1

|x[n]|2 −
N2∑

n=N1

[ M∑
i=0

αi φi[n]
]
x∗[n]

−
N2∑

n=N1

x[n]
M∑
i=0

α∗i φ∗i [n] +

N2∑
n=N1

M∑
i=0

M∑
l=0

αi α
∗
l φi[n] φ∗l [n]

=

N2∑
n=N1

|x[n]|2 −
M∑
i=0

αi

N2∑
n=N1

φi[n] x∗[n]

−
M∑
i=0

α∗i

N2∑
n=N1

x[n] φ∗i [n] +
M∑
i=0

|αi|2Ai. �$�$�&0�

6����������"�	 αi = bi + j ci

E =

N2∑
n=N1

|x[n]|2 −
M∑
i=0

(bi + j ci)

N2∑
n=N1

φi[n] x∗[n]

−
M∑
i=0

(bi − j ci)

N2∑
n=N1

x[n] φ∗i [n] +
M∑
i=0

(b2
i + c2

i )Ai. �$�$�&1�

5<��, ��4�	� ��� ���	�

ϑE

ϑbi

= 0 ⇔ −
N2∑

n=N1

φi[n] x∗[n]−
N2∑

n=N1

x[n] φ∗i [n] + 2biAi = 0 �$�$�'2�

ϑE

ϑci

= 0 ⇔ −j

N2∑
n=N1

φi[n] x∗[n] + j

N2∑
n=N1

x[n] φ∗i [n] + 2ciAi = 0 �$�$�'%�

���	�8,

bi =
1

2Ai

N2∑
n=N1

{φi[n] x∗[n] + x[n] φ∗i [n]} =
1

Ai

Re

{
N2∑

n=N1

x[n] φ∗i [n]

}
�$�$�'&�

ci =
1

2Ai

j

N2∑
n=N1

{φi[n] x∗[n]− x[n] φ∗i [n]}
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=
−1

2Ai

j

N2∑
n=N1

{x[n] φ∗i [n]− φi[n] x∗[n]} =
1

Ai

Im

{
N2∑

n=N1

x[n] φ∗i [n]

}
. �$�$�''�

3���4��,

αi = bi + j ci =
1

Ai

N2∑
n=N1

x[n] φ∗i [n]. �$�$�'(�

�	� 3/������	 �� ����4�	��� ��� ��� ���������� ��� ����	�	��8�9 ����

φi[n] = δ[n− i]. �$�$�')�

αi =
1

Ai

N∑
n=−N

x[n] δ[n− i] =
N∑

n=−N

x[n] δ[n− i] = x[i]

i = 0,±1,±2, . . . ,±N. �$�$�'*�

������ ��� 53��� x[n] ���������� �	������� ���� �	 �	����� N ��� ��������", ����	�	��4,

�
, �	���, Fourier αk� 6� 
 ����	����� ���/� ��� αk ������������� �, αk = bk + j ck9

���� bk ��� ck 	���� ����������� �������9 �� �	�-�	 ��� α−k = α∗k�

!"�


αk =
1

N

∑
n=<N>

x[n] e−jk( 2π
N

)n ⇒

α−k =
1

N

∑
n=<N>

x[n] ejk( 2π
N

)n

=
1

N

{ ∑
n=<N>

x[n]

{
cos

[
k(

2π

N
)n

]
+ j sin

[
k(

2π

N
)n

]}}

=
1

N

∑
n=<N>

x[n] cos

[
k(

2π

N
)n

]
+ j

1

N

∑
n=<N>

x[n] sin

[
k(

2π

N
)n

]
= Re{αk} − jIm{αk} ⇒ α−k = α∗k. �$�$�'$�

� � =��� 	���� 
 ��4�
 �	��-" ��� bk ��� b−k> =��� 	���� 
 ���������
 ��4�
 �	��-" ��� ck

��� c−k>

!"�


α−k = α∗k ⇔
⎧⎨
⎩ b−k = bk

c−k = −ck.
�$�$�'0�
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��� ����4��	 ��� N 	���� �����,� �	�-�	 ��� aN/2 	���� ����������, ������,�

!"�


αk =
1

N

∑
n=<N>

x[n] e−jk( 2π
N

)n ⇒

αN/2 =
1

N

∑
n=<N>

x[n] e−j N
2

( 2π
N

)n

=
1

N

∑
n=<N>

x[n] e−jπn

=
1

N

∑
n=<N>

(−1)n x[n] → ����������,� �$�$�'1�

��� �	�-�	 ��� 
 ��������� x[n] ����	� �� 	�/����	� �, ��������	����� �	��� Fourier �
,

���/�,�

x[n] = α0 + 2

(N−1)/2∑
k=1

[
bk cos(

2πkn

N
)− ck sin(

2πkn

N
)

]
�$�$�(2�

��� N �	����� ������ �

x[n] = {α0 + αN/2(−1)n}+ 2

(N−2)/2∑
k=1

[
bk cos(

2πkn

N
)− ck sin(

2πkn

N
)

]
�$�$�(%�

�� N 	���� �����, ������,�

!"�


x[n] =
∑

k=<N>

αk ejk( 2π
N

)n

=

N−1
2∑

k=−(N−1
2

)

αk ejk( 2π
N

)n

= α0 +

N−1
2∑

k=1

{
αk ejk( 2π

N
)n + α−k e−jk( 2π

N
)n
}

= α0 +

N−1
2∑

k=1

⎧⎪⎪⎨
⎪⎪⎩(bk + j ck)

⎡
⎢⎢⎣

Ak︷ ︸︸ ︷
cos k(

2π

N
)n +j

Bk︷ ︸︸ ︷
sin k(

2π

N
)n

⎤
⎥⎥⎦

+(bk − j ck)

[
cos k(

2π

N
)n− j sin k(

2π

N
)n

]}
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= α0 +

N−1
2∑

k=1

{(bkAk − ckBk) + j(bkBk − ckAk)

+(bkAk − ckBk)− j(bkBk − ckAk)} ��	��� �$�$�(&�

+�� N ����� �� N − 1 	���� �	�����,9 ����	

x[n] =

N
2∑

k=−N
2

+1

αk ejk( 2π
N

)n

=
−1∑

k=−N
2

+1

αk ejk( 2π
N

)n + α0 +

N
2
−1∑

k=1

αk ejk( 2π
N

)n + αN/2 (−1)n

(l=−k)
= {α0 + αN/2 (−1)n}+

N
2
−1∑

l=1

α−l e
−jl( 2π

N
)n +

N
2
−1∑

k=1

αk ejk( 2π
N

)n

= {α0 + αN/2 (−1)n}+

N
2
−1∑

k=1

{
α−k e−jk( 2π

N
)n + αk ejk( 2π

N
)n
}

= {α0 + αN/2 (−1)n}+ 2

N
2
−1∑

k=1

{
bk cos

[
k(

2π

N
)n

]
− ck sin

[
k(

2π

N
)n

]}
.
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M = max
n

∣∣∣∣∣
10∑

k=0

(
1

2
)k x2[n− k]

∣∣∣∣∣ �$�$�((�

���� | · | ����
��� �� �4���� 3�	��� �� M 	���� ��� �	 �
 �4����
 ���� ������ �� �����9

����"��	� ��� 	���� ����	��� 53��� x[n] = ejΩ0n� +�� ���/��	���4, 	�����4, ��� Ω09 �� M

�� 	���� ��� ����	�� ��� 	-������� ��� �� Ω09 �
����9 ��; ����� �
� �����4�	�� 	������

M = M(Ω0)� @� �����������	 �� �� M = M(Ω0) 	���� �	������� ���� �, ���, Ω0� 6� ���9

��  �	��	 �
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M(Ω0) = max
n

∣∣∣∣∣
10∑

k=0

(
1

2
)k ej2Ω0(n−k)

∣∣∣∣∣
= max

n

∣∣∣∣∣ej2Ω0n

10∑
k=0

(
1

2
)k e−j2Ω0k

∣∣∣∣∣ �$�$�()�

3�	��� �� ej2Ω0n 	���� �	������� �	 �	����� π 4�	��� ��� M(Ω0) = M(Ω0 + π) 	���� �	�������

�	 �
� ���� �	������

������ 53�� +���6� �"��
�� 4�	� �������
 ������
��,

H(Ω) =

⎧⎨
⎩ e−j 3Ω |Ω| < 3π

16

0 3π
16
≤ |Ω| ≤ π�

�$�$�(*�

A 	�����, ��� �"��
�� 	���� ��� �	������� ������	��� ���������� 8�	�� �	 �	����� N = 169

�
����9

x[n] =
∞∑

k=−∞
δ[n + 16k]. �$�$�($�

B�	��	 �
� 4-��� ��� ���������,�

!"�


x[n]
FT −DT←→ X(Ω) =

2π

N

∞∑
k=−∞

δ(Ω +
2πk

N
)

∣∣∣∣∣
N=16

=
2π

16

∞∑
k=−∞

δ(Ω +
2πk

16
). �$�$�(0�

=����
��"�	 ��� ��� � �	����
�������, Fourier ���� ��� ������, 	������ 	���� �	�������,

�	 �	����� %* ��� ��� �4�� ��� �����
�� −π < Ω ≤ π �� �������� %* ��������	, 8�	�, ���

�	��� �
, ������
��, ���, ���4,

Ωk =
2π

16
k, k = 0,±1,±2, . . . ������ �$�$�(1�

C� +���6� �"��
�� 	���� 4�� ������� ��� /����� �7���� $�$�&� ��� �������"�	� ��	, ��,

8�	�, 	���, 	�	���� ��� k = 0,±1 ���, ����	, �����4�	� ��� ���/��� /��
, e−3jΩ|Ω=Ωk
� 53���

Y (Ω) =
2π

16

{
δ(Ω) + ej 6π

16 δ(Ω +
2π

16
) + e−j 6π

16 δ(Ω− 2π

16
)

}
. �$�$�)2�



%2 �� ��������	�
� �
���������
����

− 4π
16

− 2π
16

0
2π
16

4π
16

1

Ω

|H(ejΩ)|=1

7���� $�$�&� 6������
 ������
��, ��� ���������, ��� �	����
�������, Fourier ���� �
,

��	�4��	�,�

56�� 
 4-���, 	����

y[n] =
1

2π

∫ π

−π

Y (Ω)ejΩndΩ

=
1

16

∫ π

−π

{
δ(Ω) + ej 6π

16 δ(Ω +
2π

16
) + e−j 6π

16 δ(Ω− 2π

16
)

}
ejΩn dΩ

=
1

16

{
1 + ej(Ωn+ 6π

16
)
∣∣∣
Ω=− 2π

16

+ ej(Ωn− 6π
16

)
∣∣∣
Ω= 2π

16

}
=

1

16

{
1 + ej(− 2π

16
n+ 6π

16
) + ej( 2π

16
n− 6π

16
)
}

=
1

16

{
1 + e−j( 2π

16
n− 6π

16
) + ej( 2π

16
n− 6π

16
)
}

=
1

16

[
1 + 2 cos(

2πn

16
− 6π

16
)

]
=

1

16
+

1

8
cos(

2πn

16
− 3π

8
). �$�$�)%�

������ 
�� �����
, �����
���� ���-
 	���� 
 ���/��� ��8�
, ��-
,

y[n] = ∇(x[n]) = x[n]− x[n− 1] �$�$�)&�

���� x[n] 	���� 
 	�����, ��� y[n] 	���� 
 4-���, ��� ���������,�

��� �	�-�	 ��� �� �"��
�� 	���� +���6�

!"�


+��������
��

∇(αx1[n] + bx2[n]) = αx1[n] + bx2[n]− (αx1[n− 1] + bx2[n− 1])



�� ��������	�
� �
���������
���� %%

= α∇(x1[n]) + b∇(x2[n]). �$�$�)'�

������� ��	�� �
���
��

∇(x[n− 1]) = x[n− 1]− x[n− 2] = y[n− 1]. �$�$�)(�

� � B�	��	 �
� ��������� �������
 ��� ���������,�

!"�


:4����	 �, 	����� x[n] = δ[n]� C��	 
 4-���, ��� +���6� ���������, 	���� 
 ���������

�������
�

y[n] = h[n] = δ[n]− δ[n− 1]. �$�$�))�

��� @� ��	����	�	 �
� �������
 ������
��, ��� ���������, ��4��� ��� /��
��

!"�


H(ejΩ) = 1− e−jΩ �$�$�)*�


4����

|H(ejΩ)| = |(1− cos Ω) + j sin Ω| = √(1− cos Ω)2 + sin2 Ω

=
√

1 + cos2 Ω + sin2 Ω− 2 cos Ω =
√

2− 2 cos Ω. �$�$�)$�

C� �4��� �
, �������
, ������
��, ��	���.	��� ��� 7���� $�$�'�

0
−2π 2π

Ω

2

|H(ejΩ)|

7���� $�$�'� 
4��� �������
, ������
��, |H(ejΩ)|�



%& �� ��������	�
� �
���������
����

D��
�

H(ejΩ) = (1− cos Ω) + j sin Ω �$�$�)0�

∠H(ejΩ) = arctan

(
sin Ω

1− cos Ω

)
. �$�$�)1�

A /��
 �
, �������
, ������
��, ��	���.	��� ��� 7���� $�$�(

−π −π
2 0

π
2 π

−π

π
4

π
2

−π
4

−π
2

Ω

∠H(ejΩ)

7���� $�$�(� D��
 �������
, ������
��, ∠H(ejΩ)�

��� �	�-�	 ��� 	�� x[n] = (f ∗ g)[n]9 ���	

∇(x[n]) = ∇(f [n] ∗ g[n]) = f [n] ∗ ∇(g[n]). �$�$�*2�

!"�


�	�-��	 ���

∇(x[n]) = (x ∗ h)(n) = x[n] ∗ {δ[n]− δ[n− 1]} �$�$�*%�

���

∇{(f ∗ g)[n]} = [(f ∗ g) ∗ h][n] = [f ∗ (g ∗ h)][n]

= [f ∗ (h ∗ g)][n] = [(f ∗ h) ∗ g][n] ��	��� �$�$�*&�

�	� B�	��	 �
� ��������� �������
 ��� ���������, ��� �� �����"�	 �� ����	�	� �	 ���?

�	�������� �	���, �	 4�� �"��
�� ���/���, ��8�
, ��-
, ��� �� �������	� �
� 	������

�
����  �	��	 �� hi[n] ���� hi[n] ∗ ∇(x[n]) = x[n]�

!"�




�� ��������	�
� �
���������
���� %'

:4����	 hi[n] ∗ h[n] = δ[n] � ��� �	��� �
, ������
��,

Hi(Ω) H(Ω) = 1 ⇔ Hi(Ω) =
1

1− e−jΩ
. �$�$�*'�

6��� �� �"��
�� ��� 4�	� �4���� �������
 ������
��, 	���� 
 ���������  
������ ��?

����
�


hi[n] = u[n]. �$�$�*(�

������ 53��� X(ejΩ) � �	����
�������, Fourier ��� ������, x[n] ��� /���	��� ��� 7��?

�� $�$�)� @� 	��	�4�	�	 ���, ����������", ��� ��������"� ����, �� ��������	�	 �
�8, ��

�	����
������� X(ejΩ)�

x[n]

n?) ?( ?' ?& ?% 2 % & ' ( ) * $ 0 1 %2
?%

?2�)

2

2�)

%

%�)

&

7���� $�$�)� 7��� x[n]�

��� X(ejΩ)|Ω=0

� � ∠X(ejΩ)

���
∫ π

−π
X(ejΩ)dΩ

��� @� ����������	�	 ��� �� ��	����	�	 �� ���� ��� 4�	� �	����
������� Fourier Re{X(ejΩ)}�

!"�


���

X(ejΩ)|Ω=0 =
+∞∑

n=−∞
x[n]e−jΩn

∣∣∣∣∣
Ω=0

=
+∞∑

n=−∞
x[n] = 6. �$�$�*)�



%( �� ��������	�
� �
���������
����

� � =����
��"�	 ��� 
 ��������� 	���� ����	����� �	�� �� &� C�"�� �
����	� ���

X(ejΩ) =
+∞∑

n=−∞
x[n]e−jΩn n=m+2

=
+∞∑

m=−∞
x[m + 2] e−jΩ(m+2)

= e−jΩ2

+∞∑
m=−∞

x[m + 2] e−jΩm

= e−jΩ2

{ −1∑
m=−∞

x[m + 2] e−jΩm + x[2] e−jΩ0 +
+∞∑
m=1

x[m + 2] e−jΩm

}

n=−m
= e−jΩ2

{
+∞∑
n=1

x[2− n] ejΩn + 0 +
+∞∑
n=1

x[n + 2] e−jΩn

}

= e−jΩ2

[
+∞∑
n=1

{
x[2− n] ejΩn + x[n + 2] e−jΩn

}]

(x[n+2]=x[2−n])
= e−jΩ2

+∞∑
n=1

x[n + 2] (ejΩn + e−jΩn)

= e−jΩ2

{
2

+∞∑
n=1

x[n + 2] cos Ωn

}
︸ ︷︷ ︸

A(Ω)

�$�$�**�

���� A(Ω) ���������� ������
�
 ��� �
�	����, /��
,� 7��	�8, ∠X(ejΩ) = −2Ω9

−π ≤ Ω < π�

��� ∫ π

−π

X(ejΩ)dΩ =

∫ π

−π

X(ejΩ)ejΩn dΩ

∣∣∣∣
n=0

= 2π x[0] = 2π · 2 = 4π. �$�$�*$�

���

Re{X(ejΩ)} = Re{A(Ω) e−jΩ2} = A(Ω) cos 2Ω

=
A(Ω)

2
{ejΩ2 + e−jΩ2} IFT −DT←→

y[n] =
1

2
{α[n + 2] + α[n− 2]}. �$�$�*0�

6���

X(ejΩ) = e−jΩ2 A(Ω)
FT −DT −1←→ x[n] = α[n− 2]. �$�$�*1�

����	

α[n + 2] = α[n− 2︸ ︷︷ ︸+4] = x[n + 4]. �$�$�$2�



�� ��������	�
� �
���������
���� %)

3���4��,

y[n] =
1

2
{x[n] + x[n + 4]} . �$�$�$%�

C� ������ x[n + 4] ��� y[n] ��	���.����� ��� 7���� $�$�*�

x[n + 4]

y[n]

n

n

?%2 ?0 ?* ?( ?& 2 & ( * 0 %2

?%2 ?0 ?* ?( ?& 2 & ( * 0 %2

?2�)

2

2�)

%

%�)

&

?%

2

%

&

7���� $�$�*� 7����� x[n + 4] ��� y[n]�

������ 53��� x[n] ��� X(Ω) ����������"� ��� ��������� ��� �� �	����
������� Fourier �
,9

����������,� =����������	 �	 ����, ��� X(Ω) ���, �	����
�������", ��� ys[n]9 yd[n] ���

ye[n]� 7	 ���	 �	������
 �� ��	����	�	 ���, Y (Ω) ��� �� �	����
������� X(Ω) ��� 7����?

��, $�$�$�

��� �	����������
, (sampler):

ys[n] =

⎧⎨
⎩ x[n] n �����,

0 n �	�����,�
�$�$�$&�

� � 7����	���, (compressor):

yd[n] = x[2n]. �$�$�$'�

��� 6�������	���, (expander):

ye[n] =

⎧⎨
⎩ x[n/2] n �����,

0 n �	�����,�
�$�$�$(�



%* �� ��������	�
� �
���������
����

X(ejΩ)

· · · · · ·

Ω

1

−π π

7���� $�$�$� X(ejΩ)�

����	�-
� ���	��� ����

ys[n] =
1

2
{x[n] + (−1)n x[n]} ��� ejπ = −1. �$�$�$)�

!"�


��� 6�� �
� �$�$�$)���� �� 7���� $�$�$ ����"��	� ���

ys[n] =
1

2
{x[n] + ejπn x[n]} FT −DT←→ Ys(Ω) =

1

2
{X(Ω) + X(Ω + π)}. �$�$�$*�

��
�������8���, �� 7���� $�$�$9 � �	����
�������, Fourier ���� Ys(Ω) ��	���.	���

��� 7���� $�$�0�

−π π0
Ω

1
2

Ys(Ω)

1

−π π−2π 2π0
Ω

X(Ω+π)

1

−π π−2π 2π−3π 3π0
Ω

X(Ω)

7���� $�$�0� ����������, Ys(Ω)�

� � 6�� ��� ������ �
, �����	��4�
, ���������,

yd[n] = x[2n] �$�$�$$�



�� ��������	�
� �
���������
���� %$

1

−π π−2π 2π 4π−4π 0
Ω

X(Ω
2
) X(Ω

2
+π)

1

−π π−2π 2π−3π 3π0
Ω

X(Ω)

7���� $�$�1� ����������, Yd(Ω)�

� �	����
�������, Fourier ���� �
, �����	��4�
, ���������, ���	��� ��� �
�

Yd(Ω) =
+∞∑

n=−∞
yd[n] e−jΩn =

+∞∑
n=−∞

x[2n]︸ ︷︷ ︸ e−jΩn

m=2n
=

+∞∑
m=−∞

m �����,

x[m] e−j Ω
2

m = F{ys[n]}|Ω←Ω
2

=
1

2

[
X(

Ω

2
) + X(

Ω

2
+ π)

]
= Ys(

Ω

2
). �$�$�$0�

7�� 7���� $�$�1 ��	���.����� �� �	����
�������� X(Ω
2
) ��� X(Ω

2
+ π)�

��� 3�	���

ye[n] = x(2)[n]
FT −DT←→ Ye(Ω) = X(2Ω) �$�$�$1�

� �	����
�������, Fourier ���� �
, ��������	��4�
, ���������, 	���� ���, ��� 7��?

�� $�$�%2�

−π
2

π
2− 3π

4
3π
4

π−π 0
Ω

Ye(Ω)

1

7���� $�$�%2� ����������, Ye(Ω)�

������ +�� �� �"��
�� ��� 7������, $�$�%% �����������	 �
� 4-���9 ���� 
 	�����, 	����

δ[n] ��� ���� H(ejΩ) 	���� 4�� ������� ������� ��� /�����9 �
�����

H(ejΩ) =

⎧⎨
⎩ 1 |Ω| < π

2

0 π
2

< |Ω| < π.
�$�$�02�
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����

H(ejΩ)

×

(−1)n
+

x[n] w[n]
y[n]

7���� $�$�%%� 7"��
�� ��� =�� ������, $�$�1�

!"�
 6� x[n] = δ[n]9 ���	 X(Ω) = 1 ���

W (Ω) = H(ejΩ) 1 = H(ejΩ). �$�$�0%�

6���

y[n] = w[n] + (−1)nw[n] �$�$�0&�

����

(−1)nw[n] = ejπnw[n]
FT −DT←→ W (Ω− π) = H(ej(Ω−π)) �$�$�0'�

y[n]
FT −DT←→ Y (Ω) = H(ejΩ) + H(ej(Ω−π)). �$�$�0(�

< �	����
�������, Fourier H(ej(Ω−π)) 4�	� �
 ���/� ��� 7������, $�$�%&9 �
����

H(ej(Ω−π)) =

⎧⎨
⎩ 1 π

2
≤ |Ω| < π

0 ����"�
�$�$�0)�

3���4��,

Y (Ω) = 1 Ω ∈ [−π, π) �$�$�0*�

��� ���� ���4�	��

y[n] = δ[n]. �$�$�0$�
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1

−π
2

π
2−π π 3π

2
− 3π

2 0
Ω

1

−π
2

π
20

Ω

H(ejΩ)

H(ej(Ω−π))

7���� $�$�%&� ����������, H(ej(Ω−π))�


